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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-5 0
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P3-5

BrE | GEBAK @) | ERE(EA/H) (KK ERE

01:00 125 80.0 & BRi%@01:00 (FRF1EREE)
02:00 125 80.0 5 BRi%@02:00 (KRFFEREE)
03:00 125 80.0 & Fn#He03:00 (KFERES)
07:45 125 80.0 & FiHA@07:45 (KAL)
09:40 125 80.0 5 7iHA@09:40 (KRAFEREE)
10:55 125 80.0 5 FnH#fe10:55 (KREERSS)
12:00 125 80.0 5 FiHf@12:00 (KAL)
13:05 125 80.0 5 FiHA@13:05 (KRAHERE)
14:15 125 80.0 5 FifAe14:15 (KRAERE)
15:45 125 80.0 5 FiHf@15:45 (KRR
Bit|1250.0 (10%) 800. 0 B2 #HKEC: 1920.0, PH: 6.5

unusual large postFgEt from yesterday (261), set to 240.0 ml.
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P3-5
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P3-5

BfiE) | GEBIETK (D) | EHE (EH/HR) | XK R

01:00 120 70.0 A 1BR1&@01:00 (R FHfERLES)
02:00 120 70.0 A BRi%@02:00 (KRFFEREE)
03:00 120 70.0 1] B3i%@03:00 (FKFERSE)
08:50 120 70.0 (2= {B31%@08:50 (K FH{ERLEE)
10:30 120 70.0 | = i21£@10:30 (RF{EREE)
11:45 120 70.0 5 Big011:45 (REERSE)
13:00 120 70.0 5 Bi%@13:00 (FKEEHZE)
14:15 120 70.0 5 Bi&e14:15 (RFEEREE)
15:50 120 70.0 5 B1%015:50 (REERSE)
23t[1080.0 (9%) 630. 0 3Z3KEC: 1900.0, PH: 6.5

EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

unusual large postFgEt from yesterday (246), set to 210.0 ml.
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